N = 0l & At & Ml A
20129 =38 33 FEsZASAEIIS A
BA: 2AA
HHM: HEZAETEIS
g€l AZdsl e (e EAEINS) (22 &d)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
B2 23,835 31,675 AT,840
S 9,920 12,800 A 2,880
= 13,915 18,875 A 4,960
FETAEZIEIS 12,420 15,300 A 2,880
< 9,920 12,800 A 2,880
= 2,500 2,500 0
MBS S (EEZAETEIS) 12,420 15,300 A2,880
< 9,920 12,800 A 2,880
T 2,500 2,500 0
SA2SHMEAY FA(ZHI) 9,920 12,800 A 2,880
S 9,920 12,800 A2,880
301 LEE A 8,920 11,800 A 2,880
S 8,920 11,800 A2,880
12JE2d= 8,920 11,800 A 2,880
O SARINE ZLIHRY S
40,0008 = 498 « 12& 1,920 4,800 A 2,880
< 1,920 4,800 A 2,880
Hees(E2HA) 11,415 16,375 A 4,960
SEXNE(HEzAE5TEIS) 11,415 16,375 A 4,960
(GRS INF=IL(DN 11,415 16,375 A 4,960
602 Ol Xl = 11,415 16,375 A 4,960
01 OIxl= 11,415 16,375 N4,960
O = =1 X 11,414,310& 11,415 16,375 A 4,960
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